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WA fA&W/ General Instructions:

1. 15-minute prior reading time allotted for Q-paper reading.
2. The Question Paper contains FOUR sections-READING SKILLS, WRITING SKILLS,

GRAMMAR and LITERATURE
3. Attempt questions based on specific instructions for each part.

SECTION A: READING SKILLS (20 Marks)

Q1. Read the text carefully and answer the questions: (1x10=10)

Miniature painting is a traditional style of art that is very detailed, often referred to as painting
or working "in miniature". Because of their origins as illuminations; they are also painted to
have as smooth of a suxface as possible. Indian miniature paintings have always piqued global
interest. Indian miniatures were profoundly influenced by Indian Mythological Literature and
were executed as illustrations to texts or as individual paintings. They were small-scale highly
detailed pictorial, compositions, often providing a true record of the social and c)ultural life of
the time. This time, Delhi's National Museum has lent 101 such paintings from its collection to
the National Gallery of Australia, Canberra, for a month-long exhibition. Called "Ram Katha",
the collection chronologically captures the story of the Ramayana.

Ram Katha" is the Katha of God Ram, who is the 17% of Lord Vishnu's 24 incarnations.

The paintings done between the 172 and 19% century by artists from various schools of art in
India, are themed on Lord Ram's life. "The Ramayana, composed by Valmiki in Sanskrit is
believed to be the first known narrative of Indian literature. The paintings based on Ram Katha
come from north, central and the east of India," says Vijay Kumar Mathur, the curator of the
exhibition. It took him four months to curate the display from the museum's collection of 500
odd miniature paintings depicting the Ramayana.

The exhibits represent a matured movement in miniature art wherein the spirit of Ramayana has

been researched upon and visualized in colours. "While this will be a treat for Indian spectators

in Australia, it will also be a special way to introduce Indian culture among the Australian
citizens," says Mathur. Starting on May 22, the exhibition will kick off the F estival of India in
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Australia. All major styles of Pahari paintings (Basholi, Chamba, Kangra and Bilaspur) are on
display, while Rajasthani styles includc Mcwar, Bundi, Jaipur, Bikaner and Deogarh. There' are
Tepresentations from central Indian styles of Malwa, Orchha, Datia and Rahogarh, besides
specimens of Mughal style from Bundelkhand, Deccani and Bijapur and classical folk styles of
Kalighat are also on display. Most of these styles originated between the 15th and 19th century.
Some of the noteworthy works include The Portrait of Ram, (Basholi style, Pahari, 1730); Ram
breaks Shiva's bow in the Court of King Janaka (Provincial Mughal style, Orchha,
Bundelkhand, early 17% century); Wedding of Ram and Sita (Mandi style, mid-18th century);
Ram, Lakshman and the golden deer (Kalighat style, Bengal, late 19th century); and Hanuman
With Dronagiri mountain (Rahogerh style, Central Inda, Iate 18th cenfury). The "Ram Katha"
exhibition was first held at the National Museum in 2013. The same year it travelled to the
Royal Museum of Art and History in Brussels, where it was on display for six months.
i The style of Ram breaking Shiva's bow in the court of King Janak is
© 2) Mandi style b) Provincial Mughal  c) Kalighatstyle ~d) Basholi style

fi.. Rahogarh style from Central India can be seen in the painting of
iil.  The Indian miniature paintings have been lent to Canberra.

a) Delhi's National Museum b) National Gallery of Australia

¢) Royal Museum of Art's & History  d) National Museum
iv.  The Ramayana is believed to be
V. The word which means the same as to show something in painting (para 2) is.

a) Depict b) Display ~ ¢)Exhibition d) Various

Vi. It took Vijay Kumar Mathur to curate the display from the museum's
collection.

vil.  The exhibits represent a n miniature art.
viii.  Such exhibitions will be a special way to introduce _

ix. Choose the correct option which is the synonym of small.

a) Piqued b) lent ¢) miniature d) long
X. Most of the styles being exhibited originated between ~
2. Read carefully and answer the questions: (10)

Id Birbal, the two historic legends are said to have shared a great bond and have left

1edible stories for the ages ahead of them to hear and learn from. The stories are not

ong message and pose questions on society, routine, rituals and practices strongly.
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B.xtbal Was a really wise and intelligent man, people used to admire him for his character and
nich knowledge he possessed regarding cvery ficld. Almost all the decisions of the reign were
ta%(en after consulting him. He was one of the most important ministers and closest to Akbar.
Birbal was just so very dear to Akbar, not just because of his gkills but because of the way their
bond had grown strong over the years.

During Emperor Akbar's reign, there was a poor man in Agra who was thought to bring bad

luck. People believed that if anyone looked at his face in the morning, they would have a bad

day.
"Get lost, you ugly fellow!" he would be cursed by one and all. "Hide your face before you kill
someone with your evil eye!"
The Emperor soon heard of this man's reputation and wanted to see him. The poor fellow, who
had not harmed a single person in his life, was brought to Akbar.

e Albar took a look at him and asked him to be brought back in the evening.
That particular day was especially full and tiring day for the Emperor and his courtiers.

So many matters had to be attended to, that Akbar even forgot to eat. By the end of the day, the

emperor was exhausted. To make matters worse, Akbar was informed that his favourite child,

little Prince Salim, had fallen ill.

Then the Emperor suddenly remembered that he had seen the face of the 'unlucky' man that
- morning. That was it. It was that man’s entire fault, Akbar decided.

Akbar called his courtiers and told them that he was going to have the "unlucky' man executed.

All of them agreed immediately.
All except Birbal. Instead, Birbal let out a short laugh.
"What's the matter, Birbal?" asked the emperor, "You seem to find something funny!"

~ "Nothing, your Majesty", replied Birbal.
./ ‘ "You say this man brings bad luck because you had to go without food ever since you saw him
this morning.
Look at his luck. Yours was the first face he saw today and he has to die because of it."
Akbar immediately realised his folly and rewarded Birbal for his wisdom. The above story ofa

man with unlucky face is one such story where Birbal's quick wit and strong logical reasoning

is showcased.

. Why had the king not eaten his food?

a) None of these b) He was not feeling well.

c) He had seen the face of the unlucky fellow. d) He was very busy that day.

i Who was not well on that particular day?
a) Birbal b) Prince Salim ¢) King Akbar d) The King’s courtiers
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i, Which of the following describes Birbal?

a) He had lost his senscs. b) He was a famous merchant.
¢) He was very poor. d) He possessed good logical thinking.
iv. Choose the word that has most nearly the same meaning as the word *folly’ used in the
passage.
a) Conflict b) Argument
¢) Mistake d) Words

v. What was Birbal’s initial reaction when he heard that the poor man would be executed?
a) He laughed slightly.
b) He was silent and wanted to give a chance to the poor man.

¢) He was angry because Akbar had not taken his advice.
d) None of these

vi. What was Akbar informed about his favourite child?

Y,

vii. Why did Akbar decide to execute the poor man? .

viii. What was the courtiers reaction when they heard that the poor man would be executed?
ix. What made Akbar realize his mistake?

x. Why was Birbal rewarded?

SECTION B: WRITING SKILLS (24 Marks) )
Q3. Write a notice for your school notice board in 50 words inviting articles for your school
magazine. You are Raman, student Editor of your school magazine. - 4

Q4. Write a dialogue between a grocer and a customer. The opening lines have been given below
for your help. - S

Grocer : Good moming. How can I help you? )
Customer : Momning. Well, I need some Provisions fof home. 2

Q5. You are Mohit of Kailash Bhawan, MG Road, Jaipur. Your friend Himanshu has lost his
mother.

Write a letter in about 150-200 words sympathizing with him on her untimely death.  (7)
—incredible news
—hale and hearty

—great loss

—peace
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OR

A friend of yours has been out of station for a month and there was an important event/
function held in the school while he/she was away. Write him/her a letter describing of the
event/ function, and your role in it, and why you missed your friend.
Q6. You are physical education instructor at DPS School Agra. You had placed an order for sport
goods with Student Sports Enterprises. When the items arrived you found that some of them
were defective. Write a letter to the manager, Student Sports Enterprises, asking him to

replace defective items.
OR
Write a letter to Delhi Sports, New Delhi, placing an order for sports articles (minimum 4)
‘ to be supplied to your school, sign as Ravi/Raveena, Sports Secretary. (8)
o, SECTION C: GRAMMAR (10 Marks)
Q7. Complete the tasks, as directed. |
1. Fill in the blanks (a)-(c) with the appropriate option from those in the brackets. 3
Medicinally, the bark of (a) (an/the/some) Kadam tree is used as an antiseptic (b)
(over/for/to) fevers. The juice of this tree (c) (is/was/been) used to kill
germs in the sores.

2,In the following passage, one word has been omitted in each line. Write the missing word

along with the words before and after against the correct blank number: 4)
Word Before | Missing Word Word After
Most people travel as part e.g. as a part o
p ) of their .

daily routine because it (@) | mmmmmmmme | e [ e )
enjoyable.

There are lots places to O N mm—— T DR veeeens
explore in '

the world. Tm‘}elling (©) | e vt |,
worth every
penny because you spend | - (d) e s | e
memories last forever.
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3. Do as directed.

i. Rearrange the following jumbled words/phrascs in the given dialogue to create a
meaningful sentence. It measures time in seconds, minutes and hours. A wristwatch

is easily available in different shapes and sizes. Some like round while others prefer

flat wristwatches. 0y,
worn by/it is/age/of all/groups/people

ii. Read the conversation given below. Based on your reading, fill in the blanks
appropriately. ()]
Teacher: Why are you late?

Pawan: I missed my school bus. |
Teacher: Why didn’t you leave in time?

Pawan: Sorry, I will do so from tomorrow.

The teacher asked Pawan (a)

Q)

- Pawan replied that he had missed his school bus.

When the teacher asked him why () _ in time, Pawan apologetically replied that he

would do so from the next day.

SECTION D: LITERATURE TEXTBOOK (26 Marks)

Q8. Read the given excerpts and answer the questions briefly, for ANY TWO excerpts, of the three,

given. (4M +4M=8M)

1. Read the extract given below and answer the questions that follow:
And both that momning equally lay
In leaves no step had trodden black.
Oh, I kept the first for another
day! Yet knowing how way @
leads on to way, I doubted if I
sh(;uld ever come back.
a. How did both the roads lie?
b. Why did the poet leave the first road?
c¢. Why did the poet suffer from a doubt?
d. What do the two roads represent?

2. Read the extract given below and answer the questions follow:

But the sign has been hanging on the gate for over a month now and I am beginning to

be afraid that the day I bought it was when I was the real fool.
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(8 Who is the spcaker in the above linc?

(b) What sign has been hanging on the gate for more than a month?
(c) Why does the speaker call herself a fool?

(d) Who is the listener here?

! 3. Read the given extract and answer the questions that follow:

I felt so very dependent and helpless. We are well-off, but what use is money when I

cannot be independent?
a. Who is ‘I’ in these lines?
b. Why did she feel very dependent and helpless?
¢. We are well-off. What does the phrase well-off mean here?

Q d. Explain, what use is money _?

Q9. Answer ANY SIX of the following seven questions in about 30- 40 words each

(2X6=12)

1. Why does Wordsworth compare the reaper’s song with the song of the nightingale and the

cuckoo? Do you justify it?
2. What is second childishness? Write any one characteristic of thi
3. Could the grandmother succeed in accomplishing her desire to read?
4. Why do you think Charles Hooper’s appointment as Assistant National Sales Manager is

considered to be a tribute to Duke?
5. How does the poet compare the life of a Brook with that of a man?

s stage. (The Seven Ages)

6. How did the Professor irritate his colleagues with his horrible heartiness?
Answer to the context of the chapter “The Man Who Knew Too Much”.
7. How does Juliette describe the Villa before Gaston and Jeanne like a good saleswoman?

L)

Q10. Answer ANY ONE of the following two questions in about 120 words 6)
1. You are Jeanne. After coming home, you realize that the villa was not actually bought and your
husband has fooled both you and the landlady of the villa. You are filled with rage, disgust, and
helplessness because of your husband's betrayal. Write your feelings in the form of a diary

entry. (Villa for Sale)
2. One is often unable to taste the fruit of one's hard work. Explain with reference to the story

A Dog Named Duke.

L E b
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A Atomic Energy Education Society
smaftra T8 /Periodic Test-II (2024- 25)
&Il /Class : 9 3raf@i/Duration : 3 hours
fawg/Subject : Mathematics HWeaH FH/Maximum Marks : 80

AT fA&Rr / General Instructions:

1. This Question Paper has 5 Sections A, B, C, D, and E.

2. Section A has 20 Multiple Choice Questions (MCQs) carrying 1 mark each.

3. Section B has 5 Very Short Answer (VSA) type questions carrying 2 marks each.

4. Section C has 6 Short Answer (SA) type questions carrying 3 marks each.

5. Section D has 4 Long Answer (LA) type questions carrying 5 marks each.

6. Section E has 3 Case Based integrated units of assessment (4 marks each) with sub- parts of

the values of 1, 1 and 2 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Qs of 2 marks, 2 Qs of 3

marks and 2 Questions of 5 marks has been provided.

'SECTION-A (20 x1=20Marks)

1. The valae of 3V6 + 46 is equal to:

@6V6  (b)7V6 (c) 412 (d) 7V12
2. What is the degree of the polynomial V37
(@0 (b) 1 (©) % (d)2
3. If y coordinate of a point is zero, then this point always lies:
(a)1 quadrant (b) Il quadrant () x—axis (d) y—axis

4. The equation X = 7,in two variables, can be written as
(@ x+0y=7 (b)Ox+ty=7 ©0x+0y=7 (@@x+y=7
5. How many linear equations can be satisfied by X =2 and y = 3?
(a) only one (b) two (c) many (d) three
6.X=35andy =~ 2 is the solution of the linear equation.
(@)x+3y=1 (b)2x+y=9 (c)3x+y=0 (d)2x-y=12
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7. 1f one of the angles of an isosceles triangle is 130°, then the measuze of each of the Other tyyq
angles will be
(a) 557 ®)45% sy o (©35%, 141 ()25

8. In the given ﬁgure,.if PQ|IRS then the measure of m is:

(2) 110° - ®)100° - (c)90° () 137°.

% The basic facts which are taken for granted, without proof, are called

(@) thcorems (b) axioms (c) propositions (d) lemmas, . @
10. The base BC of triangle ABC is produced both ways and the measure of exterior angles
fermed  are 94° and 126°, Then,2 BAC = |
() 40° NOF (c) 44° S (s
1. IfA ABC =A PQR and A ABC is not congruent to A RPQ, then which of the following is
not true:
(@ AC=PR (b)BC = PQ (c) AB=PQ (d) QrR=BC
12. Side BC of a triangle ABC has been produced to a point D such that 2 ACD =120° If

i
g

4B -—LA, then £ A is equal to

(a) 60° (b) 90° (c) 80° (d) 75°
13. APQR is a right - angled triangle in whichZ P =90 © and PQ PR. What 1s the value of
. Qand £R ‘ 738 Iy 3)
(2) 45° , 450 (b) 30° , 60 © (c)40° ,50° (@)20°,60° '

1
14. 1fx =2 4+ v/3 , then x+-j=

@4 ®)-5 ©)- 4 OF
(13)5
15 1 =
(13)3
(a) 139/15 (b) 132/18 (c)13-2/18 (d) 131/3
Page2of 8
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16. The value of the polynomial x31 —31latx=-1lis
(a)- 32 (b) -31 (c) -30 (@0
4
17.X —y4 can be factorized as

(8) (ehy) (x9) (247 ) 0ety) () ()
(©) (x=y) (*+y?) (d) (x+y) (x-¥)
18. If x and y are both positive solutions of equation ax +by + ¢ = 0, always lic in:
a) First quadrant  b) Second quadrant ~ c) Third quadrant d) Fourth quadrant

19. Assertion (A): Sum of two irrational numbers 5443 and 3-+V3 is irrational number.
Reason (R): Sum of two jrrational numbers is always an irrational number.
(a) Both A and R are true and R is the correct ‘explanation of A.
o (b) Both A and R are true but R is not the correct explanation of A.
(c) AistruebutR is false.
(d) Ais false but R is true.

0. Assertion (A): The angle between the bisectors of the angles of a linear pair is a right
angle.

Reason (R): If the sum of two adjacent angles is 180 ° then the non - comMON arms of
the angles are in 2 straight line.
(2) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais true but Ris false.
(d) A is false butR is true.

SECTION -B (5%2=10Marks)

21. Infig, if PQ|IST, £PQR=] 10° and ZRST=130" then find the value of £QRS.
T

B ——_— L

22 Find thovalueof ' if (5P~ X ()27 =225
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OR

32 ~2
Evaluate ( -2—45 5

23. If a point C lies between two points A and B such that AC=BC, then prove that

AC= %AB Mention the Euclid’s axioms used here.

OR

If A, B and C are three points on a line, and B lies between A and C, then prove that
AB + BC = AC. Mention the Euclid’s axioms used here.

24.  Lines l||m, p||q; Find a,b,c,d !

— /l /] »

o ’p
60
17l b
< e —> g
/&

25.  Find the value of k inx —ky =4 when x =0 and y =-2 and hence find two more solutions
for the linear equation so formed.

SECTION - C  (6x3=18Marks)

26. Prove that an equilateral triangle can be constructed on any given line segment,

W

27. AB is a line-segment. P and Q are points on opposite sides of AB such that each of them is
cquidistant from the points A and B (figure given). Show that the line PQ is the perpendicular
bisector of AB.

p

Q
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OR

Line-segment AB is parallel to another line-segment CD. O is the mid-point of AD ( Fig. given
below).
b Show that
0 (i) AAOB = ADOC @
o (i) Ois also the mid-point of BC. 10
{
28. Line / is the bisector of an angle A and B is any point on /. BP and BQ are
perpendiculars from B to the arms of ZA. Show that:
()AAPB = AAQB )
(i) BP = BQ or B is equidistant from the arms of ZA. )
29. Factorise the following: 6x+ 7x—3 3)

30. Write the coordinates of the vettices of a rectangle whose length and breadth are 6 and 4 units

respectively, one vertex at the origin, the longer side lies on the x - axis and one of the vertices

lies in the IV quadrant. 3)
3—/5 345
LI p—3 ‘/_andq - 1/_,iindlhevalueof p—q. (3)
OR
Locate \'5 on the number line.

SECTION-D  (4x5=20 Marks)

32. If a transversal intersects two lines such that the bisectors of a pair of corresponding angles

are parallel, ;hen prove that the two lines are paraliel. (5)
OR

(i) Prove thxt ”If two lines intersect each other, then the vertically opposite angles
&)
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(i1) In Figure below, lines PQ and KS intersect each other at point O.
If £POR : 2 ROQ =5: 7, find the angles.

5

33. (i) Prove that,”Angles opposite to equal sides of an isosceles triangle are equal”.  (3)
(ii) ABC is an isosceles triangle in which AB = AC. Side BA is produced to D

Such that AD = AB (figure given helow). Show that £BCD is a right angle. ()]

D N,

34. Factorise the following:

()  125x3+27y3 +8z3. 90xyz.

(2)
@M x>+ 13+ 32x +20 G) .
N 1 11 1 1
Sy TR T e V7-v6 ~ V65 * 52 ) O
| OR )
5 Simplify the following;
| ] 1 1
B 93x272
[ | ()  Simplify =1 1 3)
B 36 x33
B @ (2566 X (256)°% @
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SECTION-E  (3x 4=12Marks)
36. As shown in the figure in the village Surya the

Ie was a big pole RC. This pole was tied with a
strong wire of 10 m length from the point P,

A and B are equidistant from C,

(@
Once there was a big spark on this pole, thus wires got damaged very badly, Any small
fault was usually repaired by the normal board electricians .
This time electricians used a staircase of 10 m so that it can reach to point P on the pole
and making an angle 60° with line AC.
(1) Name the type of the triangle APB. Justify? (1)
(ii) What is the value of 2 PBC? Why? ¢))
(iii) Show that A APC and 4 BPC are congruert. (2)
OR
Find the value of 2 APR. (2)
;] : 37. Student of class IX are on visit of Sansad Bhawan. Teacher assigned them an activity (o
| /‘/) . observe and take some pictures to analyse the seating arrangement of the members based on
! coordiate geometry. The staff tour guide explained various facts related to of Sansad Bhawan
| to the students..
Refer to the below image and graph and answer the following questions:
D o B e e
Page7of 8
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(1) What are the coordinates of postion 'B' and 'D'? »
(ii) Name the point having both the coordinates negative. State its coordinates. )
(iii) Find the perpendicular distance of the point E from the y-axis and D from the
X-axis. 2)

OR.
Find the distance between the point E and F. Write the coordinates of mid point of EF. (2)

38. Manoj planned to celebrate his birthday in small orphanage centre. He bought apples to be
distributed to children and adults staying there. Manoj gave 2 apples to each child and 3
apples to each adult. He distributed 60 apples in all.

(i) Represent the above situation in linear equations in two variables by taking the number of

children as “x’ and the number of adults as ‘y’? M
(ii) Find the value of b, if x =5, y = 0 is a solution of the equation 3x + 5y=b Q)]
(iif) a. Ifthe number of children is 15, then find the number of adults? )
b. If the number of adults is 12, then find the number of children?
£ OR
 Find four solutions of the equation formed in (). @)
Mo EEE
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PRI /Class:IX 3raf/Duration:3 B¢/Hours

fa¥g/Subject: SCIENCE FFaH IFH/Maximum Marks:80

" A& / General Instructions:

1. This question paper consists of 39 questions in 5 sections.

2. All questions are compulsory. However, an internal choice is provided in some questions. A
student is expected to attempt any one of these questions.

3. Section A consists of 20 objective type questions carrying 1 mark each.

4. Section B consists of 6 very short questions carrying 02 marks each. Answers to these
questions should be in the range of 30 to 50 words.

5. Section C consists of 7 Short answer type questions carrying 03 marks each. Answers to these
questions should be in the range of 50 to 80 words.

6. Section D consists of 3 long answer type questions carrying 05 marks each. Answers to these
questions should be within the range of 80-120words.

7. Section E consists of 3 source based/ case based units of assessments of 4 marks each with
sub parts.

8. Draw diagrams wherever necessary.

SECTION A

Select and write the most appropriate option out of four options given for each of the question
no. 1 to 20 . There is no negative mairking for incorrect response. (1x20)

1. Iyoti visited a Natural Gas Compressing Unit and found that the gas can be liquefied under
specific conditions of temperature and pressure. While sharing her experience with friends
she got confused. Help her to identify the correct set of conditions.

(a) Low temperature, low pressure

(b) High temperature, low pressure
(c) Low temperature, high pressure
(d) High temperature, high pressure

Page 1of6
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N ! : i ing temperature?
2 Whieh of the following phenomena would increase on increasing p

(@) Diffusion, Cvaporation, compression of gases
Vaporation, compression of gases, solublht_y
(©) EVaPoration, solubility, diffusion, compression of gases

) EVaPoralion, diffusion, expansion of gases

3. Tincture of iodine hag antiseptic
(a) iodine in potassium iodide
(®) iodine ip Vaseline
(¢) iodine in water
(d) iodine jp, alcohol,

4. Which of the followip

(1 © substanceg ¢

properties. This solution is made by dissolving:

(@) (i) and (33)
() (i) and (i)
(©) (i) and (iv)
(d) (i) and (iij)

(b) Mercury

() Iodine
6. Amoeba acquires its fooq by the process of-

(d) Germanium

(a) exocytosis (b) endocytosis (¢) plasmolysis

7. Choose the incorrect statement from the following:

(@) All cells arise

from the pre-existing cells only,
() Rudolf Virchow Proposed the cell theory.

(¢) Nucleus wag discovered by Robert Brown,
(d) First living cells were observed by Anton Von Leeuwenhoek.

(d) biogenesis

8. Which of the following is a connective tissue?

a) tendon b) ligament c) blood d) all of these

9. Which of the following is not a function of vacuole?

(a) storage

(b) providing turgidity and rigidity to the cell
(c) water excretion

(d) locomotion
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10, Which of the following tissue helps in conduction of water and minerals in plants?

(a) collenchyma b) acrenchyma ¢) xylem d) phloecm

11, The numerical ratio of displacement to distance for a moving object is:

(2) always less than 1 (b) always equal to 1
(c) always more than 1 (d) equal to or less than |

12. The inertia of an object tends to cause an object

(a) to increasc its speed
(b) to decrease its speed
(c)to resist any change in its state of motion

(d) to decelerate due to friction _ )
13. A force acts on a body of mass 5 Kg and changes the velocity from 8m/s to 12m/sin 4 s,

then the magnitude of the force is:
(a) 8N (b) 4N (c) SN (d) 6N
14. What does the slope of the velocity-time graph give?
(a) acceleration  (b) speed (c) velocity (d) distance

15. A particle is moving in a circular path of radius r. The displacement after half a circle
would be:

(2) zero (b) mr (©)2r (d) 2nx

16. A boy is enjoying a ride on a merry-go-round which is moving with a constant speed of
10 m/s. It implies that the boy is-

() at rest (b) moving with no acceleration
(c) in accelerated motion (d) moving with uniform velocity

Question numbers 17 to 20 have two statements, Assertion and Reason. While answering
you have to choose any one of the following four responses:
a) If both assertion and reason are true and reason is the correct explanation of assertion.
b) If both assertion and reason are true but reason is not the correct explanation of the
assertion.
c) If assertion is true but reason is false.
d) If Assertion is false, reason is true.
' 17. Assertion: Gases exert pressure on the walls of the container.
Reason: The intermolecular force of attraction is very strong in gases.

18. Assertion: The endoplasmic reticulum which lacks ribosomes is called smooth
endoplasmic reticulum.
Reason: SER is mainly involved in protein synthesis.
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19. Assertion: Acceleration of o moving body is always positi f velocity with respect to time,

Reason: Accelertion of a moving body is rate of changc 0
_ . . sions collide with each other, then
20. Assertion: 1f two persons running in opposite dircctions collide w
both are injured or hurt, ) ,
Reason: To every action there is an cqual and opposite reaction.

SECTION B @
21, List any two properties that liquids have in common with gases.

22, What are chromosomes made of? When are they visible? . it

23. Papaya looks yellow in colour. Which cell organelle is responsible for this? Write

WO types of this organelle.
” . _ OR is kept in distilled
3. What is plasmolysis? What happens when a plasmolysed cell is kept in distille
Wwater? @
24. Name the following tissues:
1) Tissue found in is of the eye. .
ii) Tissue that joins bope to bone. @
25. Write two differences between speed and velocity. @
26. Why does a person standing in a bus fall backwards when the bus starts moving
suddenly? @
SECTION C
27. a) What is sublimation? Name any one substance of day-to-day use that undergoes
sublimation,
b) Convert 30°C to K scale. 3)

28. (a) 110g of solute is present in 550g of solution. Find the concentration of the solution.
(b) Which among the following are compounds? '
Zinc metal, Copper Sulphate, Mercury, Calcium Carbonate ©))
OR
28. (2) A student was given a mixture of Iron filings and Sulphur. He was asked to divide it
into two equal parts. The First part which was not heated was labelled X. He was told

to heat the second part, cool it and crush it. A new substance Y was obtained after @
heating second part.

i) What is the effect of the magnet on the substance X?
ii) What is the effect of Carbon Disulphide on Substance Y?
1ii) Which gas is evolved when Hydrochloric acid is added to substance Y? 3)

29. Give the significance of the following:

i) Waxy coating of cutin in desert plants.

i) Hair like structures on epidermal cells of roots,

iii) Small pores in epidermis of leaf. 3)

OR

29. Write three characteristics of meristematic tissue. 3)
30. Diagrammatically represent the differences between three types of muscular tissues. (3)
31. Give one example of each of the following situations.

i) Uniformly accelerated motion

ii) Motion with uniform retardation. .

iif) Accelerated motion with uniform magnitude of velocity. 3)
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(b) Which of the following

0 extinguish fire, Explain.
Rusting of iron, grindin

are physical changes?
3 of spices i
8 of spices, freczing of water, cooking of food.

34. How is boiling differe SECTION D
nt fr : ;
evaporation. Oom evaporation? Describe any three factors affecting
(5)
35. (a) State 1 .
Eb)) An :b;::&ff?sewam’“ of momentum and derive related expression.
seconds. Find 258 !(,)Okg is accelerated uniformly from a velocity of 5m/s to 8m/s in 6
. 1ts Initial and final momentum. Also find the magnitude of the force
exerted on the object. (3+2)

. . OR
35. Mathemancally derive Newton’s second law of motion. ©)

36. (a) How is a Eukaryotic cell different from a Prokaryotic cell?

(b) Why is mitochondria known as the power house of the cell? (2+3)

SECTION E :

37. A group of students took an old shoe box and covered it with a black paper from all sides.
They fixed a source of light (a torch) at one end of the box by making a hole in it and
made another hole on the other side to view the light. They placed 2 milk sample
contained in a tumbler in the box as shown in the figure below. They were amazed to see
that milk taken in the tumbler was illuminated. They tried the same activity by taking a
salt solution but found that light simply passed through it.

Shoe box
_~Glass, tumbler

containing

Read the given passage carefully and give the answer of the following questions:

1. Which phenomenon is responsible for illumination of milk? ¢))

2. Same results were not observed with a salt solution. Explain. (1)

3 Write two more solutions which would show the same effect as shown by the milk. (2)
OR

3. What type of heterogeneous mixture is milk? Write one property of such mixtures.
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38. The ratio of the distance travelled by an object to the tim

)

¢ taken is called the rate of

bjcet is the distance travelled by
ometer. Speed can be uniform

(. In most cascs, objects will
f motion of such objects in

btained by dividing the
icular

motion. Spced measures the rate of motion, Speed of an o
it per unit time and it is measured with the help of a speed
or non-uniform. The speed of an object need not be constan
be in non-uniform motion. Therefore, we describe the rate o
terms of their average speed. The average speed of an object is 0
total distance travelled by the total time taken. The speed of an object at any part

instant of time is known as instantancous speed. Answer the following.
1. An object travels 14 min 4 s and then another 16 m in 2s. What is the average speed
M

in nv's of the object?
2. A man starts walking from a point P on a circular field of radius 7 km and after 1 hour
he comes to same point P after one complete round. Find his speed. (Take pi=22/7) (1)
3. Draw a speed time graph for uniform as well as non- uniform motion. #))]
OR
3. The odometer of a bike reads 1600 km at the start of the trip and 2000Km at the end
?{;‘/ﬁ trip. If bike took 16 hours. Calculate the average speed of the bike in m/s and

Neuron is a nerve cell that is the basic building block of nervous system. The nervous system

which comprises brain, spinal cord and nerves is composed of nervous tissue. Nerve cells are

responsit.)le for communicating information in both chemical and electrical forms. There are
three basic parts of a neuron: dendrites, cell body and axon. Dendrites which are short and

_bra.nchec! processes, receive information from sensory receptors or other neurons. This
information is then passed down to the cell body and on to the axon. An individual nerve cell

may l_)e a metre I_ong. Nerve impulses allow us to move our muscles when we want to. The
functional combination of nerve and muscle tissue is fundamental to most animals.

1. Name any two body organs / parts made up of nervous tissue. ¢y)

2. Which part of neuron takes the information away from the cell body? 1

3. Draw a neat labelled diagram of a neuron. 2
OR

3. What is a nerve impulse? Name the short-branched processes present in a neuron.

Sk
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K,‘,_ Atomic Energy Education Society
mafs T / Periodic Test-IT (2024 - 25)

T8I / Class :IX 3af/Duration : 3 HOURS
fA%T / Subject :Social Science T aHH/Maximum Marks :80

I fA€e/General Instructions:

® This question paper comprises Five sections — A,B,C,D,E and F. There are 3
questions in this question paper

o Section A- Questions from serial number I to 20 are MCQs of 1 mark each.

» Section B —Question no 21 to 24 are Very Short Answer Type Questions, carrying2
marks each. Answer to each question should not exceed 40 words

o Section C - Question no 25 to 29 are Short Answer Type Questions, carrying 3 marks
each. Answer to each question should not exceed 60 words

e Section D - Question no 30 to 33 are long Answer Type Questions, carrying 5 marks
each. Answer to each question should not exceed 80 words.

o Section E- Question no 34 to 36 are case based questions with four sub questions and
are of 4 marks each

o Section F - Question no 37 is map based carrying 5 marks

® There is no overall choice in the question paper. However, an internal choice has
been provided in a few questions. Only one of the choices in such questions has to be

attempted. .
e In addition to this, separate instructions are given with each seciion and question,
Wherever necessary.
SECTION A
MULTIPLE CHOICE QUESTIONS (20x1=20)
1. The river Narmada has its source at
(2) Satpura (b) Amarkantak
(c) Brahmagiri (d) Slopes of the Western Ghats
2. Which river makes the second biggest waterfall in India,known as Shivasamudram Falls?
(a) The Godavari (b) The Tapi
(c) The Kaveri (d) The Krishna
3. Which range is known as lesser Himalaya?
(2) Himachal (b) Purvachal
(c) Shiwaliks (d) Himadri
Page10f 8
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4 Robeny Mugabe was president of which country?

() South Africa (®) Fit .
(¢) Zimbabwe (d) Estonia -

3 Who Was Vice-Chairman of the Constituent As§embly?
() H.C.Mookherjee (b) Jaipal Singh
(c ’)Kmil\aiyal;\l Maniklal Munshi  (d) Baldev Singh
the following statements 'is/;afe true:

0 As far backc usin 1928, Motilal Nehru and eght other Congress leaders drafed
a constitution for India.

() In 1931, the resolution at the Karachi session of the Indian National Congress
dwelt on how independent India's constitution should look like. R
(2) Only Statement (I) is true. o .
(b) Only Statement (II) is true,

() Both Statements (1) and (1) are true.

(d) Both Statements (1) and (II) are not true.

s

6. Which of

(b) que of Conduct
(d) Tumnout
8. Which of the following statements is/are true:

Statement (3) Apartheid was the name of a system of racial discrimination unique
to South Africa,

Stateme.:nt (II) During the Seventeenth and eighteenth centuries,the trading
Companies from Europe occupied it with arms and force.
Statement (OX) The African National Congress (ANC) was the umbrella

organisation that led the struggle against the policies of seégregation. 0
Statement (IV) Finally, at the midnight of 26 April 1994, the new national flag of '

the Republic of South Africa was unfurled marking the newly born democracy in

the world.

(@) Only Statement (D,(IN) and (1T are true,
(b) Only Statement (ID) is true.

(c) All Statements (D,(ID, (1D and (IV) are true.
(d) Only Statements (ID),(IM) and (IV) are true,

9. When were clections held to Provincial Legislatures and Ministries all over British India?

(a) 1937 (b) 1926
(c) 1929 (d) 1933
10. What per cent of people working in Palampur are engaged in activities other than
agriculture?
(2) 25 per cent (b) 30 per cent
(c) 20 per cent (d) 35 per cent

Page20f8.
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11.Which crop is grown by farmers during the rainy season in Palampur?

(a) Wheat (b) Potato
(¢) Jowar and Bajra (d) Both (a) and (b)

12. Which of the following comes under modern farming method?

(a) Multiple cropping

(b) Usc of HYV sceds
(c) Usc of chemical fertilisers and pesticides
(d) Both (b) and (¢)
13. Which of the following activities have been included under the Primary sector?
(a) Agriculture (b) Banking
(¢ ) Manufacturing (d) Tourism

14. What is that situation called when people are not able to find jobs during some months of
the year?
(a) Disguised unemployment (b) Seasonal unemployment
(c) Educated unemployment (d) None of the above

15. What is birth rate?

(a) Number of babies born for every 10,000 people during a particular period

®) gug; of babies born for every 100 people during a particular period of

(c) ?fl:llzlber of babies born for every 1,000 people during a particular ﬁeriod of

(d) tlilltlll::lber of babies born for every 1,00,000 people during a particular
period of time

16. The major determinants of the earning of any individual in the market are:

(a) Health and age (b) Education and skill
(c) Age and education (d) Skill and age
17. There are two statements marked as Assertion (A) and Reason (R). Mark youranswer as
per the codes provided below:
Assertion (A):The price of bread which was the staple diet of the majority rose
rapidly.

Reason (R): There was rapid increase in the demand for food grains due to increase
in population but production of grains could not keep pace with the

demand.
(2) Both Assertion and Reason are true, and Reason is the correct explanation

of Assertion.

(b) Both Assertion and Reason are true, but Assertion is not the correct
explanation of Assertion.

(c) Assertion is true, but Reason is false

(d) Assertion is false, but Reason is true.
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33 proposals
18. When did Louis XVI eall together an assembly of the Eatates € jencral to pass prop

for new taxes?

(@) $ May 1789 (b) 12 April 1789

(¢) 28 June 1789 (d) 11 July 1789
19, Who wrote an influential pamphlet called "What is the Third Estate'?

(a) Mirabeau (b) Rousseau

(c) Napoleon Bonaparte (d) Abbé Sieyes

20.

21.

23
24

25

26.
27.

28

29.

Which of the following statements is/arc truc?

Statement (T) - On 21 September 1792 the Convention abolished the monarchy and
declared France a republic,

Statement (IT) - On the same day the Convention also abolished censorship.

(2) Only Statement (I) is true. .j
(b) Only Statement (II) is true.

(c) Both Statements (I) and (I1) are true.

(d) Both Statements (I) and (IT) are not true.

SECTION B
VERY SHORT ANSWER TYPE QUESTION (4x2=8)

What is meant by a water divide? Give an example
What was Taille?

OR
Why did members of the third estate walk out of the assembly of the estates general?

What is “election’?
How do most small farmers arrange for the capital?

SECTION C )
SHORT ANSWER TYPE QUESTIONS (5x3=15)

‘Besides a vast mainland, the country has two groups of islands'. Briefly describe the
island groups of India.
How did the political system change after the fall of the Jacobin government?

Which is the most common form of democracy in our times and why is it necessary?
Discuss two non-farm activities in Palampur.

OR
Discuss how surplus farm products like wheat are sold.

What are economic activities? What are the two parts of it?
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SECTION D
LONG ANSWER TYPE QUESTIONS (4x5=20)

features of the Himalayan rivers.
OR . _
Give an account of the Northern Plains of India,

Discuss the ideas put forward by philosophers and their influence on people.

OR

"The National Assembly completed the draft of the constitution in 1791.Its main object
was to limit tho powers of the monarch. Discuss important features of the Constitution

of 1791.

30. Write important

3L

32, How can you say that people participate in the election process with enthusiasm? Give
reasons.
OR
Discuss the following:-
(a) How does democracy improve the quality of decision-making?
(b) Democracy allows to correct its own mistakes.
33 What do you understand by 'people as a resource'? Define the role of education and

health in human capital formation.
OR

“The aim of production is to produce the goods and services that we want. There are
four requirements for production of goods and services'.
Describe all the four requirements of production.

SECTION E
CASE STUDY BASED QUESTIONS (3x4=12)
34, Read the given case and answer the questions (4 marks)

India’s contacts with the World have continued through ages but her relationships
through the land routes are much older than her maritime contacts. The various passes
across the mountains in the north have provided passages to the ancient travellers, while
the oceans restricted such interaction for a long time.These routes have contributed in
the exchange of ideas and commodities since ancient times. The ideas of the
Upanishads and the Ramayana, the stories of Panchtantra, ‘the Indian numerals and the
decimal system thus could reach many parts of the world. The spices, muslin and other
merchandise were taken from India to different countries. On the other hand, the
influence of Greek sculpture, and the architectural styles of dome and minarets from
West Asia can be seen in different parts of our country.

Q.34. (1) What provided passages to ancient travellers? (1)

Q.34 (2) What has been the contribution of land routes since ancient times? )

Q.34 (3) Which commodities were taken from India to different countries? 1)
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35. Read the given case and answer the questions (4 marks)

In 1804, Napolcon Bonaparte crowned himsell Emperor of Fran.cc.He set out ¢,
conquer neighbouring  European countries, dispossessing dynasties f’"d Creating
kingdoms where he placed members of his family.Napoleon saw %“3 role ag 5
modemiser of Burope. He introduced many laws such as the protection of priyy,
property and a uniform system of weights and measures provided by the decimg)
System. Initially, many say Napoleon as a liberator who would bring freedom for the

People.But soon the Napoleonic armies came to be viewed everywhere as an invading
force. He wags finally defeated at Waterioo in 1815.

Q.35 (1) What happened in 18047 )
Q.35 (2) How did Napoleon see himself? What were the laws introduced by him?  (2)
Q.35 (3) Where ang When was Napoleon finally defeated? 1)

)

@)
Q.36 (3) How will rules work? 6]
SECTION F
(MAP BASED QUESTIONS) i
37(1) Locate and label the following places in the political outline map of France: (2) ‘3)
(A) Marseilles
(B) Nantes

372 Identify, locate and label any three of the following on the outline Political map
of India: 3

(A) Identify the lake. ‘ :

(B) Locate and label the western-most state through which the Tropic of
Cancer passes. -

(C)  Locate and label the capital of Madhya Pradesh.

(D) Locate and label the capital of Uttarakhand
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